RERE-AIVITRERRISOVTHEER A

D11/29LE 5 mEttEtES L
35
100Bg/ kg% X 5L D0
BREHE

No BT #EA HElniELE trL-134 t 9 L-137 EEE
Bqg. kg Bq. kg Bqg. kg

1 At R5.11.30 =S| BREE9(<7.2) BREE9(<7.2) BRHEEY

2 N /NG R5.11.30 =SS BREEI(<11) BRHEE9(<8.5) - Janpcac N

3 SEHWTH R5.11.30 =SS BREE9(<6.7) BREE3(<74) - Janpcc

BRBEECIBTA—REBEROREE 9L 100Bg/kg(t>HL-134, £ H L-13TDEE(E)




RERE-AIVITRERRISOVTHEER A

@11/30LE 9 mEttEtES L
65
100Bg/ kg% X 5L D0
BREHEE

No BT #EA HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke

1 Fa At R5.12.1 =S| BREE9(<7.3) BREE9(<8.1) BRHEEY

2 i) R5.12.1 =S| BREE9(<8.2) BRHET(L75) - Janpcac N

3 i) R5.12.1 =S| BRHEE9(<8.5) BRHET(<6.4) - Janpcc

4 SEEEE R5.12.1 =S| BRHET(<9.6) BRHET(<9.3) - Janpcc N

5 EZAM R5.12.1 =S| BREE9(<8.8) BRHEET(L1.7) - Janpcac N

6 =1 R5.12.1 =SS BREE9(<L7.3) BRHEE9(<5.6) L Janpcac N

BaBEE B2 —REBEROEEE 9L 100Bg/kg(t>HL-134, 22 H L-13TDOEE(E)




RERE-AIVITRERRISOVTHEER A

B12/1LEH WattEtEs S L
8fmh
100Bg/kgZ #8251 D0
BREHE

No BT R HE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke

1 KEH R5.12.1 =S| BREE9(<8.1) BREE9(<7.3) BRHEEY

2 RFF R5.12.1 =S| BREE9(<9.0) BREE9(<7.8) - Janpcac N

3 HET R5.12.1 =S| BREE9(<8.7) BREE9(<8.2) - Janpcc

4 At R5.12.1 =S| BRHE9(<6.6) BRHEE9(<6.8) - Janpcc N

5 At R5.12.1 =S| BRHEE9(<L7.5) BREE9(<7.9) - Janpcac N

6 At R5.12.1 =SS BREE9(<7.0) BRHEE9(<6.7) BRHEY

7 LWhEm R5.12.1 =SS BREE3(<74) BREE9(<7.2) BRHEY

8 LWhEm R5.12.1 =SS BRHEE9(<8.0) BREE9(<7.2) BRHEY

BaBEE B2 —REBEROEEE 9L 100Bg/kg(t>HL-134, £ H L-13TOEE(E)




